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Guess Papers – 2007
CLASS - X
Mathematics

Time: 3 hrs                                                 




Marks: 80
General Instructions:

       ( i )  All questions are compulsory.

       ( ii ) The question paper consists of 25 questions divided into three section – A, B and C. 
              Section A contains 10 questions of 2 marks each. Section B is of 10 questions of 3 marks 
              each and section C is of 5 questions of 5 marks each.
     ( iii ) There is no overall choice. However, an internal choice has been provided in two 

             questions of three marks each, two questions of four marks each and two questions of six 

              marks each. 

     ( iv ) In question on construction, the drawing should be neat and exactly as per the given 

              measurements.

     ( v )  Use of calculators is not permitted.  
SECTION A
(Qns 1 – 10 carry 3 marks each)

1.  Solve:  148   +   231   =  527

                   x            y          xy                              or         ax + by = a - b

                 231   +  148    =   610                                        bx – ay = a + b              
                   x           y            xy 
2.  If x – 3 is the G.C.D of x3 – 2x2 + px + 6 and x2 – 5x + q, find 6p + 5q. 

3.  If    5x – 13     =    A         +       B        , find A and B.

        x2 – 5x + 6       x – 2             x - 3 
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4.  Solve:  2     2x-5        - 3   x + 3     =  5

                        x + 3              2x - 5   
                                      or

                        1             =    1     +      1       +        1       ,  a + b = 0
                  a + b + x             a              b                 x 
5.  Find the three terms of the A.P such that their sum is 6 and product is – 42.

                                                          Or

     The angles of a quadrilateral are in A.P whose common difference is 100. Find the

     angles.

6.  Find the sum:   3 + 11 + 19 + ………………. + 803.
7.  A typewriter is available for Rs 7200 cash or for Rs 3040 cash down payment and five

     equal monthly instalments of Rs 860 each. Find the rate of interest chargd under the 

     instalment scheme. 

8.  Ram borrowed a sum of money and returned in three equal quarterly instalments of 

     Rs 17576 each. Find the sum borrowed, if the rate of interest charged was 16% per 

     annum compounded quarterly. Find also the total interest charged.

9.  In fig. ABCD is a quadrilateral with AB = AD.  AE and AF are respectively bisectors
    of LBAC and LDAC. Prove that EF // BD. 
                     A                         D
                                                       F

                          B

                                           E               C 
10.  In fig, O is the centre of the circle with radius 3cm and PT is the tangent to the circle

       at T. If PT = 4√2 cm and PA = 4cm, find the distance of AB from the centre of the

       circle.

                                                      T

                                          3cm                   4√2cm
                                             O            

                                 B                                                     P

                                                       A         4cm
SECTION B

(Qns 11- 20 carry 4 marks each)

11.  Show graphically the following system of equations has no solution. Also find the 

       area between these lines representing the equations in the first quadrant.

       2x + 3y = 6

       4x + 6y = 24

12.  A shopkeeper buys a number of books for Rs 80. If he had bought 4 more books for 

       the same amount, each book would cost him Re 1 less. How many books did he buy?

13.  Construct a triangle ABC with BC = 5cm, vertical LA = 600 and median through

       vertex A of length 3.8cm.
14.  Prove that:  cos3θ + sin3θ   +  cos3θ - sin3θ    =  2

                          cosθ  +  sinθ        cosθ   - sinθ 

                                                  or

      Without using trigonometric tables, evaluate the following:

     cotθ.tan( 900- θ ) – sec( 900- θ ).cosecθ  + sin2250 + sin2650 + √3( tan50 tan450 tan850 ) 
15.  Find the number of coins 1.5cm in diameter and 0.2cm thick to be melted to form a 

       right circular cylinder whose height is 8cm and diameter 6cm.

16.  Calculate the arithmetic mean of the following frequency distribution:
	Class-interval
	0-20
	20-40
	40-60
	60-80
	80-100
	100-120
	120-140

	  Frequency
	12
	18
	15
	25
	26
	15
	9


17.  Given below is the expenditure of a person on different items out of his salary of

       Rs 14,400.  
	Item
	Clothing
	Food
	Rent
	Education
	Others
	G. Total

	Expenditure
( in Rs )
	2800
	3600
	3600
	1800
	2600
	14400


       Draw a pie chart to depict the above data.
18.  The king, queen and jack of clubs are removed from a deck of 52 playing cards and 

       then well shuffled. One card is selected from the remaining cards. Find the 

       probability of getting  ( i ) a heart    (ii) a king  (iii) a club   (iv) the 10 of heart.
19.  A(6,8) is a point on a circle with centre at (3,4). Find the point on the circle which is 

      diametrically opposite to A. Also find the radius of the circle.

                                                                Or

      Three consecutive vertices of a parallelogram are (3,0), (5,2) and (-2,6). Find its 

      fourth vertex. Also find the length of the diagonal to the fourth vertex.

20. The line joining the points (2,1) and (5,-8)is trisected at the points P and Q. If point P

      lies on the line 2x – y + k =0, find the value of  k. 
SECTION C
(Qns 21 – 25 carry 6 marks each)

21. Prove that in a right-angled triangle, the square on the hypotenuse is equal to the sum

      of the squares on the other two sides. 

       Using the above do the following:

       In ∆ABC, LA =900 and AD┴ BC. Prove that AB2 + CD2 = BD2 + AC2.

22.  Prove that if two chords of a circle intersect inside or out side the circle, then the 

       rectangle formed by the two parts of one chord is equal in area to the rectangle 

       formed by two parts of the other. 

       Using the above do the following.

       If AB = 5cm, BP = 3cm and PD = 2cm, find CD.

                                 C                 D        2cm                 P 

                                                                3cm

                                      5cm            B 

                               A 
23.  The angle of elevation of a cloud from a point 200m above the lake is 300 and the 

       angle of depression of its reflection in the lake is 600. Find the height of the cloud.

                                                            Or

      A man on a cliff observes a boat at angle of depression of 300 which is approaching

      the shore to the point immediately beneath the observer with uniform speed. Six 

      minutes later, the angle of depression of the boat is found to be 600. Find the time

      taken by the boat to reach the shore. 

24. A right triangle, whose sides are 15cm and 20cm, is made to revolve about its 

      hypotenuse. Find the volume and the surface area of the double cone so formed.

     (Useπ = 3.14)

                                                          or

      A container made up of a metal sheet is in the form of a frustum of a cone of height

     16cm with radii of its lower and upper ends as 8cm and 20cm respectively. Find the

     cost of milk which can completely fill the container at the rate of Rs 15 per litre.
     (Useπ =3.14) 
25. Ashish’s annual income is Rs 1,80,000. She contributes Rs 1,000 per month in P.F

      and pays Rs 2,000 as annual LIC premium and donates Rs 6,000 in National Defence

      Fund (100% relief on donation). Find the amount she has to pay in the last month of 

      the year if Rs 300 is deducted at source from her monthly salary for 11 months.
      Use the following for calculating income tax.

           ( a ) Savings:  100% exemption for savings upto Rs 1,00,000.

           ( b )  Rates of Income tax for male persons ( Below 65 years )      

	              Taxable Income
	                     Income tax

	( i ) Upto Rs 1,00,000 
	                          Nil

	( ii ) Rs 1,00,001  to Rs 1,50,000
	    10% of income exceeding Rs 1,00,000

	( iii ) Rs 1,50,001 to Rs 2,50,000
	Rs 5000 + 20% of income exceeding

 Rs 1,50,000

	( iv ) More than Rs 2,50,000
	Rs 25000 + 30% of income exceeding

Rs 2,50,000


           ( c ) Surcharge:  If  taxable income exceeding Rs 10 lakh, a surcharge of 10% is 

                                     levied on the amount of  tax payable. 

          ( d ) Education cess:   2% of income tax.
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